CHEMISTRY 11          
              SOLUTION WORKSHEET #3

 

 Net Ionic Equations

 

 Write the net ionic equation for the reaction that occurs (if any) when 0.2 M solutions of the following are mixed.

 

  1)  NaOH and HCl

  2)  NaOH and Pb(NO3)2
  3)  HCl and AgNO3
  4)  Sr(CH3COO)2 and (NH4)3PO4
  5)  Ba(NO3)2 and LiCl

 

 Neutralization Problems

 

  6)  What volume of 0.0220 M HNO3 is required to neutralize

 
75.0 mL of 0.0340 M KOH ? What is the formula of the

 
salt produced ?

  7)  What volume of 0.156 M LiOH is required to neutralize

 
4.50 L of 0.205 M H3PO4 ?

  8)  What volume of 2.50 M HCl is required to neutralize

 
32.5 mL of 0.412 M Ca(OH)2 ?

  9)  A student spills 4.25 grams of solid NaOH. What volume

 
of 0.524 M HCl must be applied to the NaOH in order to

 
neutralize it ?

 

 Titration Problems

 

 10)  A 50.0 mL sample of NaOH having an unknown

 
concentration was titrated to an end point using

 
68.4 mL of 1.45 M HNO3. What was the concentration of

 
the NaOH ?

 11)  When 35.0 mL of HBr solution was titrated to an end

 
point using 0.452 M KOH, it was found that 28.7 mL of

 
the base had been used. What was the concentration of

 
the acid ?

 12)  A 25.0 mL sample of LiOH was titrated against

 
0.648 M H2SO4. The end point was reached when 32.9 mL

 
of the acid was used. What was the concentration of

 
the LiOH ?

 

 

Answers:

  1)  H+(aq) +  OH-(aq) --->  H2O (l)

  2)  Pb2+(aq)  +  2 OH-(aq) --->  Pb(OH)2 (s)

  3)  Ag+(aq)  +  Cl-(aq) --->  AgCl (s)

  4)  3 Sr2+(aq)  +  2 PO43-(aq) ---> Sr3(PO4)2 (s)

  5)  no reaction

  6)  116 mL ;  KNO3

  7)  5.91 L

  8)  10.7 mL

  9)  203 mL

 10)  1.98 M

 11)  0.371 M

 12)  1.71 M

